A rod consisting of two cylindrical portions AB and BC is
restrained at both ends. Portlon AB is made of stedt (Es =

200 GPa, os = 11.7 x10 =6/ °C), and portion BC is_ made of
brass (Ep, =105 GPa, ap = 20.9x10
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PROBLEM 2:

aluminium.

C.

PR OBLE?\J 3

rod is initially unstressed.

Determine the compressive force 1
there is a temperature rise of 50°C.

Each of the links AB and CD is made of Aluminum (E =
10.9 x 10° psi) and has a cross-sectional area of 0.2 in.?,
Knowi.g that they support the rigid member BC.
Determine the deflection of point E.

S/ °C). Knowmo that thre

induced in ABC when

A 4 ft section of Aluminum pipe of cross-sectional area 1.75 in” rests on
a fixed support at A. The 58 in. diameter steel rod BC hangs from a
rigid bar that rests on the top of "the pipe at B. Knowing that the
modulus of elasticity is 29 x 10° p51 for steel, and 10.4 x 10° psi for

Determine the deflection of point C when a 15 kip force is applied at

300 mm

30-mm diameter

Steel

50-mm diameter

Brass




